#include<iostream»

using namespace std;
int main()
{
int a, b;
cin »> a »> b;
bhool 1s a even = (a % 2 == 9);
8 bool 1s b even = (b % 2 == B];‘

1t (lis a even && lis b even)
cout << a * b << "\n";

else 1t (1s a even && 1s b even)
cout << a / b << "\n";

else 1t (lis a even && 1s b even)
cout << a + b << "\n";

else
cout << a - b << "\n";

return 6;




#include<iostream>
using namespace std;
int main()
int a, b, c, tmp;
cin »>» a >» b »> c;

if (b < a)

tmp = a;
a = b;
b = tmp;
i
if (c < b) {
tmp = b;
b = c;
c = tmp;
1t (b < a) {
tmp = a;
a = b;
b = tmp;
h
h
cout<<a<<” "<<b<<”
return 6;
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#include<iostream>

using namespace std;
int main()

L

int a, b, ¢, tmp;
cin »>>» a > b »> c;

int res = -1;

1t (a < 190 && a > res)
res = a,

1t (b < 1800 && b > res)
res = b

1t (c < 190 && C > res)
res = C;

cﬂut{{r95¢{”Kn”;‘
return a;




#include<iostream>
using std;
main{)

X, al, a2, a3, a4, as;
cin >> X >> al »>> a2 >>» a3 >»> ad >» a5;
cnt = 8;
cnt += (a3l <= x);
cnt += (a2 <= x);
cnt += (a3 <= x);
cnt += (a4 <= x);
cnt += (a5 <= x);
cout << cnt <¢ " "
return 6;

<< 5 - cnt << "\n";




#include<iostream»

return a,

using std;

main()
result, num;
7 cin>>result;

C1ln>>num; if(result < num) result = num;
cin>>num; if(result < num) result = num;
cin>>»num; if(result < num) result = num;
cin>>»num; if(result < num) result = num;
cin>>»num; if(result < num) result = num;
C1ln>>num; if(result < num) result = num;
cin>>num; if(result < num) result = num;
cin>>»num; if(result < num) result = num;
cin>>»num; if(result < num) result = num;
cout<<result;
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cnt, result,
cin>>cntﬂ
cin>>result;
cnt -= 1;
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#include<iostream>
using std;
main()

X, start, end, cnt = @;

Cln>>x;
cin>>»start>>end;
cnt += (start <= x && x <= end);
cin>>»start>>end;
cnt += (start <= x && x <= end);
cin>>»start>>end;

2 cnt += (start <= x && x <= end);
cout<<cnt<<"\n";
return @;




#include<iostream>
using std;
main{)

sl1, el, s2, e2;
cin >> sl »» el >> s2 >> e2;
if(el1 < s2 || e2 < s1)

cout<<-1<<"\n";
else

1T(s1 € s2) s1 = s52;
if(el > e2) el = e2;
cout<<s1<<” "<<el<<"\n";
return @;




